
C1

C1 is ______ than 15 degrees Celsius.

Answer: ___________________

At 15 degrees, C1 and C2 have ______ temperatures.

Answer: ___________________

C1 is ______ than C3 when the temperature is 15 degrees.

Answer: ___________________

Which is colder, C1 or C4, at 15 degrees?

Answer: ___________________

At 15 degrees, C1 is ______ than C5.

Answer: ___________________

If C1 measures 15 degrees, what is the temperature in Celsius?

Answer: ___________________

Which is warmer, C1 or C6, at 15 degrees?

Answer: ___________________

At 15 degrees, C1 has ______ temperature compared to C7.

Answer: ___________________

What temperature is represented by C1 on the scale at 15 degrees?

Answer: ___________________

C1 is ______ colder than C8 at 15 degrees.

Answer: ___________________



Answers

C1 is ______ than 15 degrees Celsius.

Answer: cooler

At 15 degrees, C1 and C2 have ______ temperatures.

Answer: similar

C1 is ______ than C3 when the temperature is 15 degrees.

Answer: cooler

Which is colder, C1 or C4, at 15 degrees?

Answer: depends on the scale

At 15 degrees, C1 is ______ than C5.

Answer: warmer

If C1 measures 15 degrees, what is the temperature in Celsius?

Answer: 15 degrees

Which is warmer, C1 or C6, at 15 degrees?

Answer: depends on the scale

At 15 degrees, C1 has ______ temperature compared to C7.

Answer: similar

What temperature is represented by C1 on the scale at 15 degrees?

Answer: 15 degrees

C1 is ______ colder than C8 at 15 degrees.

Answer: slightly


